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Note :
are compulsory.

PSYCHOLOGY
PAPER - 11

This paper contains fifty (50) objective type questions of two (2) marks each. All questions

1.  Match List - I with List - IT and select the correct answer by choosing from thelcode given

. 4
below : d »
List - I List - I1 | F
(Concept) (Description) y
(a) Type (i)  Consistent style of behaviouror emotion, a };erson displays
across the situations™ L {
*
(b) Trait (i) A cluster ofJlr any dispf)sitions
|'I |
(c) System (iii) Enduring qualities that define the individual and
distinguish indivi ?s from one another
(d) Structure (iv) A collection of highly interconnected parts of personality
whose overall behayieur réflects them being organised
Code : < : f{ .
@ () (o (d Hy
® @ @ @) G
@ @ O ) G
@ @) @0
@ () Gy @ 6

a

(a) _ Feeling of Knowing

(c) Retrievablé memory

C(}dg S

(1) (&) and (b) only

(3) (b) and (d) only
aoa [ [[E RN

2. Which of the follﬁwinrg is true for Tip of the Tongue (TOT) state ?

Feeling that memory is available

(d) Maintenance recoding
(2) (a) and (c) only
(4) (c) and (d) only
2 Paper-II
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3.  Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Conditioning done using partial reinforcement schedule decreases resistance

to change.
Reason (R) : Partial reinforcement schedules influence rate of responding.
Code : ¢
&
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). {
I’ [

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

r

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true. /,.4' #

| ¥
¥

4.  Arrange the clinical scales of MMPI - II in correct se\lkfnce.

(1) Depression — Hypochondriasis — Hysteria — s’ychof)athic Deviate — Masculinity-
Feminity — Paranoia — Psychasthenia — Schi Zophrenla — Hypomania — Social
Introversion -.*" {

(2) Hypochondriasis — D_epréi'ssmn — Hysteria — Psychopathic Deviate — Masculinity-
Feminity — Paranoia — Psychasthenia — Schizophrenia — Hypomania — Social
Introversion

(3)  Social Introversiion - Hypomania — Hypochondriasis — Depression — Hysteria —
Psychopathic Deviate — Masculinity-Feminity — Paranoia — Psychasthenia —
SChizoph;enia

Masculinity-Feminity — Psychopathic deviate — Hysteria — Depression —

/ (4) Social intro},erslion — Hypomania — Schizophrenia — Psychasthenia — Paranoia —
Hypochondriasis

|
5. Alllport defined personality as :

¥
w

(1) Response style (2) Social stimulus value
Intervening variable (4) Thinking style
N7 \IHIH\II“H AT ‘ Fapec
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& (R) : STIfYTeh JoeT ST TR S ! Jifad edl € |
e "' /.
(1) (A) 3R (R) 3 Tt ¥ iR (R), (A) FT T = §1 {
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6. Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Increase in synaptic strength is due to the simultaneous stimulation of
pre - synaptic and post - synaptic neurons.

Reason (R) : Long term Potentiation can be induced in the laboratory by stimulating the
pre - synaptic neurons with pulses of high frequency of electricity‘for few
seconds. &

4

Code : {

lp' [

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

r

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

" \
(3)  (A) is true, but (R) is false. /,/ »

(4) (A) is false, but (R) is true. f \ f

7.  Concepts allow us to identify thingsxwithout { e
!
(1) Learning (2) Reléqrggng (3) Récognition (4) Remembering
Y4
8.  Below given are sonie concepts. Indicate which is the correct sequence in terms of levels of

increasing abstractiofi ?

Concepts are : |
|
,(a) Negation :?ncept

(b) Alternative denial concept

(c)p DisjunctioTl concept

cd\dg :
1) TI @: (b), () ) (@), (), (b)
B) (b), (), (c) 4) (o) (b), (a)
wanet [ HINNN :
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(3) (A) W& ¥, W (R) TeW B A 7 |

4) (A) 7T 8, W (R) TRl 2| ,f |

| j,
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i

L e T fod T ¥ 1 STRR deAarett R & fafie wli O ded ¥ we s 2
K
STFYROME Freerg ¥ {

ranst [ NNEAI 7

www.examrace.com



9.  Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Description) (Concept)
(a) Transformation of the order of items (i) Non - specific transfer
£
f
(b) Transformation in contents of items  (ii) Learning to learn ; rr‘ )
(c) Use of coding devices and mediators  (iii) Coding J §
(d) Learning how to perform the task (iv) Clustering. : ]
"
Code : e \ {
.// #
@ () (9 (d / [
| I
|
1) @) @) @O @) \ (}
@ v @) @ o i
@ @ O @ G e |
</
@ @O @ @) @) §y o
10. Binocular cues depenid on}
(a) Combination of the images in the left and right retinas
|
o (b) The way twp eyes work together
(c) Imagein ei{er right or left eye
(d)» Difference jbetween the images in the two eyes
Code :
v
(1) = (@), (b) and (d) only (2) (a), (c) and (d) only
(3)  (c), (a) and (b) only (4) (b), (c) and (d) only
raos [ FHEEITINIAN ; Fapec
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b
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L ®) ﬁﬁé{g&?ﬁamaﬂﬁsﬁﬁfa
| ©) mﬁ%#ww st ¥ sfa

() s ﬁa@ﬁw@ﬁ%nww
ﬂ:
(1) fée—om (a), (b) 3R (d) (2) B (a), (c) 3 (d)
(3) O (), (a) 3 (b) (4) oA (b), (o) 3T (d)
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11.

12.

13.

The correct order of the stages of Master’s and Johnson's sexual response cycle is :
(1) plateau, excitement, orgasm, resolution
(2) excitement, plateau, orgasm, resolution
(38) excitement, orgasm, plateau, resolution

(4) excitement, plateau, orgasm, refractory

{
Where is Broca’s area located ? |
(1) Frontal Lobe (2)  Occipital Lobe | .
(3) Parietal Lobe (4) Temporal Lobe \ (

A\’
Read each of the following two statementsr- Asses t10nJ ) and Reason (R); and indicate
your answer using code given below : ‘\
Assertion (A) : Generally, performance is optimal w. én armsal is low.
i e
Reason (R) : On easy tasks perfirn’tance becomes optimal.

|

Code : ¥ { <

(1) Both (A) and (R) are true, (R) is the correct explanation of (A).

(2) Both (A) and (R) are'true, but (R) is not the correct explanation of (A).
w1

(3) (A) is true, but (R) is false.

(4) " (A)is faldd, but (R) is true.

A

14. Motivation is best understood as a state that :
(1) ' Reduces a drive
(2)II'k J Aims at satisfying a biological need
(3) - Bnergises an organism to act
Energises and directs behaviour
o [ NN 1 Papert
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11.

12.

13.

14.

AR 3R SIS & ST7ER A1 foran ="’ 3 =il o1 9l hH R T 2
(1) TR, I, HaeH, fagifa

2) NS, U8R, TEeH, fagifa

)
(2)
(3) oI, GEeH, o, fagifd
(4) STSHI, YOR, HEH, AT

4

ST &1 el Feerd Bl © 2 f
(1) R gs (2) UEHUA TS
@) Twia g (4) @ EE

f.»f P
mamwmw A) sl ae (R aﬁmﬁﬂﬂﬁﬁﬁﬂ@%aﬂwm@m

ANTRT (A) : T, Wﬁwmm%wéw%@m%l

& (R) : Wmﬁmﬁ&@mﬁm{%

. *“a.
Fe Vo ¢

(1) (A) 3R (R) 3 W& € S (R), (A) FT T =N B
2) (A)W(RWH@%W(R,(AWWWH@%
@) (A) ¥ fre (R) Tl 31
(4) A)““%W(RW@%

ﬁ@wﬁwmm%wﬁww%:
1) aﬁﬁzﬁﬁm|

), oo sewa Sifaw sTavashd w1 W HE 7
3y T i 71 e e foerd &1

4) Foe8 S fHerd € SR serr @1 foen faerd 21

(

1

2

4

2),

4

ranst [ NNEAI i
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15. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Concept) (Phenomenon)
(a) Functional fixedness hypothesis (i)  Akind of set that would make the images
of all material almost similar
(b)  Functional equivalence hypothesis (i) Mental manipulation performed on
images of objects made to bg similar to
those that would be performed on,, actual
objects
(c) Functional manipulative hypothesis  (iii) A kind of set that wauld point thc';ughts
in the wrong direction
(d) Functional object imagery (iv) Mental manipulation performed on
images of objects which are very similar
to those that wéuld be performed on
/_.4’ actual objects
Code : ..'f _|'
@@ (b) () (d) f 1 |
L @ @ @ G \ f/
(2) @) (@) @v) @) 4
(3 @) @Gv) @ @ ™
A (
@) (v) @) @ @
<, {
16. Match List - I with List - II_ andi' select the correct answer by choosing from the code given
below :
List - I« List - II
(Concept) (Explanation)
(@) Procedural memory (i)  Memory for facts, words, dates, names of objects
(b) Declarati\i('e memory (i) Combining several letters, words, phrases into one
“stack” of information
[ (c) Episodic me mory (i) Memory for typing, driving, riding a bicycle.
(d) Recoding | (iv) Memory about “what”, “where” and “when” of our
lives
Code : |
L (@ (k) fe) (d)
(ML, 6 @) @) G)
@~ 6 @ @
€) (iV) (iii) (i) (i)
(4) (iii)
Naua7 \IHI IHII 2 Fapec
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(d) TT-%TS
HE : |
L @ (b) (9 (d)
Dy @ @) (@) ()
(2) = @) @ o (@v) (i)
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N0 ||H||H|\|H \||H\||||H|\|||\

I 61 gt - 11 % 91 gAfea sifee 3R fFefafad g2 w1 78 #3d g0 9d S &1 =5

et - 11
(e )
(i) e, v, e, fyuel & 9w gfa
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17.

18.

19.

20.

3

Purposive manipulation of reinforcement contingencies, which encourage desirable behaviour,
is called :

(1) Contingency management (2) Contingency contracting

(3) Contingent reinforcement (4) Non-contingent reinforcement
Which of the following depth cue is based on muscular feedback ?
(1) Texture gradients (2) Motion parallax : .'I"; )

(3) Accommodation (4) Light and Shadow f F

Nomothetic approach in personality research was mainly emﬂlasised by :

(a) Allport (b) Skinner (;24, Ca;tgll E.(d) Eysenk
Code : ..'f I
(1) (a) and (c) only 2 [ @ an'j (b)/only
(3) (b) and (c) only 4) " (c) an ‘Aﬁ only ;
¥ 'l

Read each of the following two stafements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

4

Assertion (A) : Spearman proposed the existence of specific factor of intelligence.

Reason (R) : It was observed that tetrad differences are always equal to zero.

-

Code : { (

1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

a

1)
(2) Both (A) ia"nd (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, ;ut (R) is false.

4)

4) (A) is false,but (R) is true.

21.  Which theory of emotion implies that every emotion is associated with a unique physiological
reaction ?
(1) ; James - Lange theory (2) Cannon - Bard theory
(8) Two factor theory (4) Opponent - process theory

raos [ FHEEITINIAN 1 Fapec
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17. Yo SRR 1 FASHHCTR SAEEA difsh dis+d esR i agren fean s de frefafad §
1 he Sl € 2
(1) SRR Joiegd (2) SR {EHS Hepe
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19, wAfe e P T g e i § e s A fen o2
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Fe /| |
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%
20. frAfafEd <1 Al IfaeRe™ (A)@Tﬁk(R)ﬁW@ﬁiﬁmW%WWwﬁ‘@m
SR S : T
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FE L
1) (A) a?r{{lgﬁﬂﬁ%aﬁw(m, (A) Tl TEI == T
/() (A) S (RYFHFE E TG (R), (A) FT T A T T
(3) (A) ¥, TG (R) T ¥
(4) _ (A) T &, T (R) T B |
I
21w s i g A B T wen d e o e e A de 37
(1) - = - <l fagid 2) & - &S fagia
3) f5 - =re fagid (4) ToRieh-ufsran fagia
aoet [ [HERINNITAN 1 Faper!
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22.

23.

24.

25.

26.

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : Some people perceive wolf as dog.

Reason (R) : External features in a category of concepts are associated with each other.
Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). | ;
(3) (A) is true, but (R) is false. { ’
(4) (A) is false, but (R) is true. i [

L

The frequency with which an operant response occurs before 1t is'systematically reinforced,

is called : - \ (
(1) Rate of responding (2) (}ﬁérant lével
(3)  Orienting reflex (4) ,.lfAutoqlitic Ilalehaviour

|
f

An important factor which enables one to adapt to 1‘1 rted vision is :
(1) Orientation (2) Active —
(3) New learning ( “4) Frame of reference
Vi )

defined intelligence-as the ability to ‘see relations and to educe correlates’.
(1) Binet . (2). Spearman (3) Terman (4) Boring

£ ‘

Which of the following statements are true about Eysenck Personality Questionnaire-Revised
(EPQ - R) and the NEO - Personality Inventory - 3 (NEO - PI-3) ?

(a) Both EPQ - R and NEO - PI - 3 have Extraversion and Neuroticism scales.

(b) Eysenckianﬁ’sf‘ehoticism scale correlates positively with Agreeableness, and negatively
with conscientiousness scales of NEO - PI - 3.

(c) Eysenckian Psychoticism scale correlates negatively with Agreeableness and
conscientiusness scales of NEO - PI - 3.

(d) Only EPQ - R has lie scale; NEO - PI - 3 does not have lie scale.

Code :
(1) : (a) and (b) only (2) (a) and (c) only
(3) (a), (b) and (c) only (4) (a), (c) and (d) only
s (IR 1 Faper
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22.

23.

24.

25.

26.

N-00417 ||H||H”|”||H"

frefafaa & sl s1fuere (A) 3R ek (R) =i 9feT iR =1 fST T Fe 1 3TFrT 3d g ST
W?ﬁﬁm:

AMRT (A) :  FD Al AfeY 1 T ToAferd F o € |

& (R) : TErerRll Y Aot o el fodaTd U gE § weaAtea ot ¥ |

<

1
2
3
4

A) 3R (R) ST W&l € 31X (R), (A) i W& =me 7
A) 3R (R) S &l €, T (R), (A) T Tl AR 716 § |
A) T& &, T (R) e © |

A) T €, R (R) T g

™ (
2
3 ( i
@) (

@mmwﬁrm@mwa@ﬁm@mﬁﬁmﬁwamﬁ?

(1) TIR R (2) Sﬁﬁw ’
3) fa=ma wfaed (4) F,:@aﬁ@waqq%r{

Wq&%ﬁ@mﬁﬂalqwqﬁiﬂfﬁ%: ‘fﬂ
1) efufe=m 2) §fFa Hae S
(3) T st Vi@ W P
-« q.{ '
3 gfg ot AR Heitli Sl TEe R TE-HeEl i Scael I AT H T H & ¢
1) fo ) R (3) A 4) @

SgSich SAfoRic Mj@ﬂ'fi—mﬁ (3 W H-3R) 3R Fre-=afaae st - 3 (Frl - Wete.-3) &
R H FreAfafed B @ i & oA 98 ¥ 2

(a) 3 TR 3R Fl - .oE. -3 S TeRgTEsH SiR RRifefa het B B |

[ (b) oTESi % HrEHfcfoed Wha § Witged & WY oS &9 9 iR =l - demE.-3 &

qoiHTHqulr'wc:i % WY HUHS ©9 § gedey T

(C) 3TESioh o WIEhIFaH whal H TiTaed iR =l - 1.37%.-3 & Sifgaa s ©ha & @Y
" RO WeEAY T |
(d) FEd T d IR § 38 Ao &; - diemE. -3 H 1w T

(1) F@ (a) 3 (b) (2) FE (a) 3R ()
(3) A (a), (b) 3 (c) (4) I (a), (o) AR (d)

, (b)
L
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27.

28.

29.

30."

Afferent and Efferent nerves are found in which of the following ?
(1) Sympathetic Nervous System (2) Para - Sympathetic Nervous System
(3) Somatic Nervous System (4) Central Nervous System

Match List - I with List - IT and select the correct answer by choosing from the code given
below :

List - I List - II
(Type of Test) (Example)

g 1

(a) Forced choice personality inventory (i) Minnesota Multiphasic Pers(onallty
Inventory (MMPI - 2)

(b) Ipsative Scale (i) Rosenzweig Picture Frustration Study
(c)  Personality inventory with a lie scale (i) Edwards Personal Preference Schedule
(EBPS)
(d) Projective test (1}/,} Allpprt - Vernorﬁl - Lindzey’s Study of
y Valuels
Code : / . J
@ (b (© () ,. \ -'
M @ @ @ o /
(2) @) @) @O (@) -
@ @) O @ G .4 |
@ m @ @ o N/

Y
Which is the correct sequence of parts of ear through which sound travels in the ear ?

(1) Tymphanic membrane — Stapes — Incus — Malleus — Cochlea

(2) Tymphanic mer‘nbrar}e — Incus — Stapes — Malleus — Cochlea
(3) Malleus — Incus — Stapes — Cochlea — Tymphanic membrane
(4) . Tymphanic membrane — Malleus — Incus — Stapes — Cochlea

- |
The 1986 Sympo um'on intelligence identified the main loci of intelligence :
(@) Intelligence within the individual
(b) » Intelligence within the environment
(c) Intelligencle within the interaction between the individual and environment

(d), Intelligence to be measured by psychometric measures

(Cl())cf;e (r) and (b) only (2) (c) and (d) only
(3) , (b) and (c) only (4) (b), (c) and (d) only
Naua7 \II\I il 1 Faper

www.examrace.com



27. Trefafad § 9 fead sifyare den styamel dierd 9 St & 2

(1) SRRYfde qifseht 93 () Ad-geryfaes dfsem 7=
(3) hIfeh df>eRT a3 (4) hsra AR 9

28. GET- I & Gl - I1 & W19 Gafaa sifee iR fAfafed §e &1 78 &d gT 98l SW 1 9o
HIfT

et - 1 el - 11

( Ui &TOT ST YT ) (ST L

(a) oA foshey =afedc eyl () fHERT 9 =Roig Al geee (TH T 9
SE-2)

(b) EAMH HIYH! i)  USIIfer fost el e
(c) S WUl Higd =aferica STIHE] (iii) TEATS ?lﬁ,élqrcld%{blmﬁ:lﬁ%dl g (3 i ™)
(d) & e (iv) aj;aq‘fé - &4 - faves g7 serA
%< / i

@ (b)) (9 (d) \ /
W ) @ @ | /
() @) @v) @) (@) . 4
®) (@) @@ @Gv) (@) e
@ v @ @) 0 " (

{
X
29. M 3 W 1 T B @ %, TR W @ et e f e 372

(1) wvives faeedt — e —>T-%LUT—>EH IR — hulfed
() WW—»W—)W%WW—)W
3) WW—)W%W%W—)WW
(4) wUiUeE faeet — o9 TR — T[0T — A — FHolad
‘4
30./ = 1986 ® dfs g Winel # frfefed § & foft smuwl & 9 7 gfg 1 wRemn w1 w2
(a) ifie % o s
(b) SERY % ST Ifg
() Afte iR SmERY % WA srEEE ¥ o 1S
(d)  Ffs 1 A HAITHGE o | foRen S T

?&1_)6?%6 (a) 3T (b) (2) A (c) 3 (d)
(3) o (a), (b) R (c) (4) I (b), (o) 3R (d)
eooss7 |[[[[HHTHININ 19
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31. Match List - I with List - IT and select the correct answer by choosing from the code given

below :

List - I List - II
(Terms) (Explanation)

(a) Anorexia nervosa (i)  Sudden death occurs as terrified person’s
parasympathetic nervous system over
reacts due to which heart slows down to
stop A

{

(b) Bulimia nervosa (i) A resting period after orgasm, during
which a person cannot achieve another
orgasm ’

(c)  Refractory period (iii) An eating- disorder in which a person
sighificantly becomes underweight.

(d) Voodo Curse }x{;’ An Jéating disorder marked by over

J eating.
/ ! f

Code f \ /

@@ (b) () (d) Jj

O 6 6@ @) @ 4 (

@ @ @ ™ 6 «f '

G @ ™ o @ '

@ @) @ 6@

£ ‘
|
32. The most commonly overlooked and obvious reason for forgetting is :
(1) Encodiﬁg:‘t;pecificity (2) Encoding failure
[ (3) Lack of slegf) (4) Faulty eating habits

33. Which of the foillowing sequence is correctly arranged ?
(1), Incoming information — Rehearsal buffer — Selective attention
) ¥ ' Rehearsal Buffer — Selective attention — Incoming information
(3) Srelective attention — Rehearsal Buffer — Incoming information
Incoming information — Selective attention — Rehearsal buffer

won [ I
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31. eI - 1% Gt - 11 & |1 gafad site iR fefafad s & 560 i g 98 S &l =09

FHIT :
A - 1 Tt - 11
(ug) (=TeE)
(a) & A9 ()  oTaH Fo B © ST S g3 AT ERGEZEIRIEED
T3 aga SAferen gfafshen e st § FSeh ®RUged &t
Tt 5 B % g el & S 71 d »
(b)  agenfrmE (i) TS 3 v faam ) s s S o
T: 3T TG i feufd # 7 v T g
(c) ] Huferadn et (i) @M & |c4<gn|c| frert wqqmqu g S B I )
d) IgHH (iv) @M aﬁ/ﬁeg»ld ﬁmﬁ e qu 31fYeh @™ T |
FE [
@ (b) (o) (d) '
@O @ @@ @) \'/— /
) @) @) @) @) . f
e G ™ o @ «[f '
@ @ @ @ o A
32. ﬁ@gﬁraﬂwﬁww{mwﬁwﬁwww%:
(1) Heag & i fafimed (2) FHeHG HE I fatheran
€) :ﬁ?aﬁ;ﬁ.&t (4) @M I Ffeqol T
33. Taeifefed # 9 M o1 %9 e §?
(1) ; STl o — e gfales — fafire e
(2;* T giadeh — fafere e — strare gee
) " fafere e — gafvay gfdlies — AHerel =
(4) SAHaTE For — faftre e - qaiad gflivs
weaoer || FF TN 2 Faper
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34.

35.

Match List - I with List - II and select the correct answer by choosing from the code given

e

List - II
(Explanation)
Medium point of one’s personal frame of reference

Ingrained patterns of organisation and attention
i

f
Failure to perceive a stimulus that is in plain/view,
but not the focus of attention

Tendency to respond less td predictabl; and
unchanging stimuli

L

r

Match List - I with List - II and’lﬁelgct the correct answer by choosing from the code given

below :
List -1
(Concept)
(a) Inattentional blindness @)
(b) Habituation (ii)
(c) Adaption level (iii)
(d) Perceptual habits (iv)
Code :
@@ (b) () (d)
1 G Gv) @O ()
(2 @) @@ @) @)
(3 @) @@ @) @
@) (v) @) @ @
L
below : ];4
List - I
(Tests)

-

(a) Cognitive Asseésmer]'t Battery
(b) Deviation | 1Q

(c) Cogm’ti:/e*Assessment System
(

a
d) Stanford - liine't Scales

Code
“ (@ (b |(C) (d)
@ O @6 @
@) @@ ) 0
3) (fv) (m) M ()
(4) i) (1) (i)
N-a0e1 \II\I HII

List - II

(Authors)
i)  Cattell, RB
ii) Terman
Wechsler

iv) Naglieri and Das
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34. EIT- 1SRG - I1 &I gafad Hifse iR = fiw T % § 9 98 S| g :

et - 1 gt - 11
( YO ) (=TEAT )
(a) STTAYMIHS YT () Trdt =afaa & Safaaes ded e o1 7 foig
(b) ST (i) TS I A ok SFafifed giqwE
(c) 3R &R (iif) U TR & sTEAIY H fawHe ST S HTJTFJ w9
Y gftenier 2 fheg 39 W &M FHf=a & s
(d) et e (iv) e 3R SR ST % uf senE
%Y TR S At gIfa
% : _ ' :
@@ (b) (o) (d) ’
(1) (?ii) (iv) (iC (i) ,rfﬂ’ i
@ G O @) ) / \
(3) @) @) (v) () '
4 Gv) G G @ ‘j .
35. ¥ - ﬁ?@?-ll%wagﬁ@ﬁ%%aﬂxﬁw%f@;@wmw@wwww
FHIfT ; Ni
et - 1 " e - 11
( wteyor) “. (T )
(a) TR S| () ¥, oA
(b) fo=rem g@ﬂ&u (i) =HA
(c) EAFRHS ForTed! (iii) TR
(d) TewRe-fa ' (iv) ICRT To <™
%2 -
@ ®) '@ @
M6 @) ) @)
(2) o @) @) @) @
@ G@v) G @ 3@
(4) @) @) (@v) (i)
soon [ FTHIEDANT 2
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36. Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :
Assertion (A) : Some persons engage in activities such as collecting things, being good
listeners, or being gullible persons.
Reason (R) : In Freudian psychoanalysis, it is assumed that fixation at oral stage results
in the development of oral incorporative character.
Code : f
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). ; 'rx ‘
(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A). r
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true. - - g
i
37. A researcher wants to scale nine attitude itenﬁl the n“{ethod of paired comparison. What
would be the number of pairs of the attitude items ? |I
1) 81 2 72 [ (3) ‘6 @ 9
38. Which of the following are regulatedibz Sympathetic 'N érx‘zods System ?
(a) Dilation of pupils < [ (b) Decreased activity of Adrenal Gland
(c) Digestion is stimulated } 4 . (d) Increased Heart Rate
(e) Dryness in mouth -
Code : o P
(1) (@), (b) and (c) only | (2) (b)and (c) only
®) (@ (@ nd @ only (4) (@), (©), () and (¢) only
/ “d4
39." Which of the fOH;WiII‘lg can cause errors in reasoning ?
(@) Premise ph'rasing manner
(b)” ForeclosurF effects
(c),lk Confirmation bias
Code :
(1) (a) and (b) (2 (a) and ()
(3) () and (9 (4) (a), (b) and ()
raos [ FHEEITINIAN 2 Fapec
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36. freAfafEa <1 seri SIfeRe (A) 3R @eh (R) I ufet 3R e ST 7T %e &1 SWIT d gT 79
W?ﬁﬁm :
AR (A) : T Al <ISil o Fehetd, 3To5 G112 3127 Hiel-wTel sAfe o Sieft Tfafaferi
H dfere Ted ¥ |
T (R) : WIS & HAtowe Y § UE qeuren © f difes whA # fEd & wowaey
Thifges TaEst =i #1 faem g g |
e p
(1) (A) 3R (R) 3 T& # 3iR (R), (A) F T8 = §1 '-"‘f‘
2) (A) 3R (R) IH T €, TG (R), (A) i TEI AT T B | !
3) (A) ¥ g W (R) Tod B
(4) (A) 79 B, T (R) §E B E.
37. I SNeRAl A sIfugia- ﬂﬁwwgﬁnﬁmfgfaﬁmw%l sAfugfa-wal & I
@& 1 eRt 2
(1) 81 2 72 %‘j “4) 9
38 warpfe e o3 g At f fyen fabi A ¥ '
(a) AR forEmrRT < L (b) Afugees Uty fhamsiierd s s
(©) Wwﬁaﬁeﬁmemi [ (d) === e
() HE I Ik &l
e : ¢ -
(1) e (a), () (o) | (2) o (b) 3R (o)
@) FT @) (&) A (e) (4) F (@), (©) (d) 3R ()
30.( W@aﬁ@éﬁﬁﬁgﬁﬁwam%?
(@) snuTien-ugsy difd
(b) = T 73 ?E@f HATYA G
() gite g
T
(1) @ W (b) 2 (a) (o)
() () 3R () OENCROKEING
seoost || [FHHNANNAN 2
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40.

41.

42.

43.

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : The names of objects, days of the week, the seasons and other general facts
are all quite lasting and we do not forget them.

Reason (R) : Most of our basic factual knowledge about the world is almost totally
immune to forgetting.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). o

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). /

(3) (A) is true, but (R) is false. { 1

(4) (A) is false, but (R) is true. J f

According to Skinner, which of the following are the characteristics of ‘Respondent

Behaviour’ ? i :
(a) Itis elicited. (b) Iti emltted E
(c) Itis conditioned. (d) f‘i uncondltloned
Code :
(1) (a) and (c) only (2) fl (b) anlﬁ (c only
(3) (@), (c) and (d) only 4) " (b), (c) a)a)d (d) only

f F

F
Fd

=

Read each of the following two statements - Asserti‘bn ) and Reason (R); and indicate
your answer using code given belovxf

Assertion (A) : To use a computef, we must learn to pay attention to specific stimuli, such
as icons, commands and signals.

Reason (R) : Learning creates perceptual habits that affect our daily experience.
Code : -

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are ‘true, but (R) is not the correct explanation of (A).

B3) (A)is tlj‘uel, but (R) is false.

4) (A)is false;but (R) is true.

Arrange Thurstotg’s primary abilities in correct sequence :

(1) “Verbal Comprehension; Verbal Fluency; Numerical Ability; Memory; Perceptual
Speed; Inductive Reasoning, Spatial Visualization
(2) Verbal Fluency; Verbal Comprehension; Numerical Ability; Memory; Perceptual
| Speed; Spatial Visualization; Inductive Reasoning
(3) ¥ Numerical Ability; Verbal Comprehension; Verbal Fluency; Memory; Inductive
" Reasoning; Spatial Visualization; Perceptual Speed
(4) Spatial Visualization; Inductive Reasoning; Memory; Perceptual Speed; Numerical
Ability; Verbal Fluency; Verbal Comprehension
aoa [ [[E RN 2 Fapec
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40. fy=fafea < weml - 1fUeRe (A) 37K ek (R) 1 Ufet iR = ST TTT e 1 3TEnT i g 1o
m(;a) : ioll, TTg % &, Fgell & A IR o W 927 Tt <enfas 2 € 3R 7
3% T erd ¥ |
e (R) : TOR % R H TR 31ferenisr Hifere qeareres 9 wre: fomgfa @ qofa: 3+e g €1
KQ (A) 3R (R) 341 T € 3R (R), (A) T =& =0e B
() (A) 3R (R) I T €, TG (R), (A) T T A T T /
3) (A) W& & W (R) Tewd B {
(4) (A) 7o ¥, g (R) T T [ [
41. TR & R, Fefafed § 9 &F ' fra Tga aer’ & &0 €2
(a) I FrshY &y T S g | (b) =& ScHfsia o ST 21
(c) THH! ST Bl (d) SEEH SIEA & e 2|
< : // I.
(1) o (@) 3 @) [F (o) it ©
(3) FA (a), (c) I (d) (@) [ F9 (b), (€) ¥ (d)
42. Trfafed < ol - fuwme (A) SﬂTﬁ(R)EﬁW@aﬂ{fﬁ?@EWT&aﬂ SUINT I T ST
ﬁaiﬁ?ii:i(;&): frdlt S H1 S W?W%ﬁra@?ﬂﬁﬁ TARY IR Hehash v fafire
SETh BT SAY AR T wfeu |
qeh (R) : aqfwmﬁqaﬁho‘ 3Tl 1 g 2l & a8 g9rt Sfeh STqva genford Sran 7|
gz(A)Sﬁ'{(R SFIEET § TR (R), (A) 1 W& =T |
2) (A) 3R aﬁ'—h‘ﬂﬁr%m (A)afraémﬁ%‘l
(3) (A)a?r% T (R W%ﬂ
(4) nm% ] (R) Tl &
43. / 9T & qafis p AT sl el A H Helsy
(1) ek Tt aifesh Yae, Aifcher T, Tqfd; Wieferer Tfd; STRTHATHS qeh; T AMY
2) :T:qn quﬁ.; aTfaeh THe; Sifcheh Ardr; Tf; TTedferes Tfd; Tfeh HME S9H; STRTHACHS
LED
(3;* R Aifeheh JFdT; Alfaeh THS; AMTaeh JaTe; Td; SATTHAHS qeh; TMfeh A S9H; TTefeteh
(4) -ZTF'IOI': A T; SNHATHS oh; TId; TTcdfedes TIfd; 3iifeher Arear; aifaesh gare; aifaeh
seoost || [FHHNANNAN 2 Pape.i
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44.

45.

Read each of the following two statements - Assertion (A) and Reason (R); and indicate
your answer using code given below :

Assertion (A) : According to the Classical Test Theory (CTT), the true score component
and the error component of the observed score are assumed to be
uncorrelated.

Reason (R) : According to the CTT, the error component is assumed to be distributed
with a mean of zero.

Code : ¢

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). {
(2) Both (A) and (R) are true, but (R) is not the correct explanation ofI(A).
(3) (A) is true, but (R) is false. {
(4) (A) is false, but (R) is true. :

.

g ™ |i
-
Arish, on a Wechsler type of scale, has a DIQ( eviation IQ) of 85. His percentile rank would
be :

1) 16 2) 34 % 4) 85
x" ,

J
F
Fd

Instructions for questions 46 to 50. . r
Read the following paragraph a‘g'd a@swer the five questions which follow :

A psychologist, working in thé area ) of Learning and Memory hypothesized that a particular
drug would adversely affectsthe learning rate. One hundred and fifty subjects, 75 boys and
75 girls, studying in the first year of a degree college, in the age range of 18 to 20 years, were
available for the study. It was ensured that all the subjects were in the DIQ (deviation IQ)
range of 85 to 115. {Three groups - A, B and C - of equal size were formed by random
assignment. Group A recéived high dosage of drug, Group B received moderate dosage of
drug, and Group C received only placebo. A list of 15 CVC trigrams, each having an association
value in the rahge of 50 to 70 was already prepared. Each subject was required to learn the
list upto two errorless trials using method of anticipation on a memory drum. The mean
trials required tolgarn the list were 12, 15 and 20 respectively. The intergroup mean differences
were statistically ﬁignificant at .01 level.

46. Which one of thF following conclusions can be drawn on the basis of the above study ?
(1) The researcher’s hypothesis has been verified.
(2) ¥ The researcher’s hypothesis has been rejected.
(3) : The researcher’s hypothesis has been partially accepted.
(4) Inadequate data to evaluate the hypothesis.
raos [N s Fapec
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44. Trafafaa < weAl - IFaEwe (A) 3R @ (R) 1 9fgy 3iR = fSu T e 1 STRT HTd g 70
I EifeIT

USRI (A) :  Fenrgen! Theq fagia (FAF) & TR TA U<lich H1 T& UTdich Goeh
3R Ffe Heoesr IR-wg Hafem o S 2 |

e (R) : .33, & ER, Jfe ek Y & HemH 9 faafa /e S j
e
(1)
(2)
(3)
(4)

(A) 3R (R) i Tt € &R (R), (A) T GE =0 €|
(A) 3R (R) SFi T2 ¥, T (R), (A) it &l A& T8 2
3)  (A) & T, T (R) e B |
(A) TTed §, T (R) T T

4

AN G
45. TR % I%R S Then W foaada gfs a=h g,é'faws‘a{) 31k 85 €1 THHI YAqHb hIdt H
=l ? / '
1) 16 2) 34 e ‘8 / (4) 85

o §. 46 ¥ 50 ¥ Frdwr '/ Y 4

me@wm%aaﬁm.@%aﬁwﬁwmﬁﬁwaﬂﬂﬁ%@mﬁmaﬁam
yfaehet guTe STe | wﬁuﬁ%,w%ﬁﬁﬁ%umaﬁﬁamwﬁzomaﬁ%
75 TS qUT 75 ASfRAl AT ¥ SUGsd 91 ug gifvea foman e on fob weft fawet 85 9
115 <t 31 g (foraer o1 1) SR | & | AGgesIhion § THH SRR & fiH Te-T, oft, Tt s
T HHE T R Afh WO St <, T it bt ok Hen # sty & 7 e wog w1 e
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47. In the above study, “association value’ can be labelled as :

(a) Continuous variable
(c) Organismic variable
Code :

(1) (a) and (b) only

(3) (a), (b) and (c) only

(b) Controlled variable
(d) Stimulus variable

(2) (a) and (c) only
(4) (a), (b) and (d) only

48. Read each of the following two statements - Assertion (A) and Reason (R); and indicate

your answer using code given below :
Assertion (A) :

groups.
Reason (R) :

Code :

(2)
(3)  (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

"

In the above study, the subjects have been randomly a?s1gned to the. three

The independent variable is manipulated more effectively with random
assignment of subjects.

r

*_'

= 'y

(1) Both (A) and (R) are true and (R) is the ?xrect explanation ofﬁ( A).
Both (A) and (R) are true, but (R) is notjthe correct| explanatlon of (A).

I \‘j

49. Match List - I with List - II in the context of above study and select the correct answer by

choosing from the code given below 4

List - I < {

(a) Independent variable Y @)

(b) Dependent variable (ii)

(c) Controlled variable (iii)

(d) Discrete variable (iv)
Code : \ (
@@ (b) [ () (d)
M () Gy @) 0
@ @) G 6. (i)
(o @ W Eﬁi) \ 6
(4) @ @v) (@) (i)

(
List -1I I
Intelligence
Drug dosage
Gender

Trials required to learn the list

50. In the above study, the variance caused by Drug dosage can be labelled as :

(1) Primary variance
(3)' , Controlled variance

w

r

s (T

(2) Secondary variance
(4) Error variance

-00o0-
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47.

48.

49.

50.

SR 1A | Teart qod' 1 e H | 0 e S wehd 7 2

(a) Hdd =N (b) TEfE =R

() Sifos =R (d) 3EUR =W

<

(1) e (a) 3 (b) (2) A (a) AR (o)
(3) e (a), (b) 3 (o) (4) A (a), (b) 3 (d)

ﬁw%if@?faﬁmm—aﬁmm(A)amazk(R)qﬁqaﬁTﬁ%ﬁQW?wm%ﬂﬁng

AR (A) : ST 31277 § AR Sl Agfessh €9 W O THRl § S|
e (R) : WA % Agfewsh T § TR § Ty =X H st g4 @t § 2-W
(AfTgereF) fepan St 1 < ¢

(

1) (A)
(2) (A) 3R (R) I G ¥, g (R), (A) BT T men TR |
(3) (A) T E, fFg (R) T B f 1/
(4)  (A) o ¥, g (R) W ¥ U
sqﬁaaamﬂ%ﬂfﬁﬁga'}-Iﬁwﬁ-ll%waww%mﬁﬁqm@mmm
'Y TR IW IfT \ %
el - 1 1 _‘-{ T - 11
(a) T R Moo s
(b) efHd =R T () sifa = Emn
(c) frafam == (i) T
(d) o =R i x{ (iv) e § g e srifer e
T2 : ,
@ @, @
(L) (v)y (@) @) (
GRS AL
(3) (@) (v) [fi) " @)

@ @) (@v) @O (i)
SR ST H, | Sfufy S A o T g TE 1 F H H 0 el S Hehdl @ 2

(1)  SrefHe gEo (2) WIS FEO
(3) "y Frifsa g @) 3
-00o0-
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Space For Rough Work
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